N 2 0l & AF S E A A
20098 = =0l A L BES|H|
SN AL
BH: SQ0ITA DS (SHHYLM/5Y - SE)
O SEDSHY L SMAY BB CRRE]
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
A& 31,572,924 28,915,501 2,657,423
s 5,991,000
= 5,269,190
= 20,312,734

sgolZgRE (LM /=Y - &) 8,944,209 5,316,952 3,627,257
s 2,758,000
= 2,501,000
= 3,685,209

sENSHYE & sPdad &5 2,583,000 3,558,000 A975,000
s 1,858,000
& 303,500
= 421,500

sESSENLE 893,000 1,000,000 A 107,000
s 625,000
L= 134,000
i 134,000

401 A& HIL 2O 893,000 1,000,000 A 107,000
s 625,000
L= 134,000
= 134,000

01 Al&HI 869,707 975,531 2 105,824
O E3AH A 869,707

—SENSTSEMNLAMS (OFMSIEHI 2 2

I A) 869,707
- &AIE AL 835,379,000& *2.99/100 24,978
A HI 835,379,000 14! 835,379
s 625,000
< 134,000
i 76,379
e R 170,000 «55& X 9,350

03 A& 23,293 24,469 A1,176
OZE3AH A 23,293

—SENSSEMNL A (OFMSIHII 2 2

L) 23,293
MNEE B 1,000,000 x1H x12& 12,000




SN AL
Y sYAZIR(sEllEM/5Y - S&)
Eel: sE0SHY & sPday 25 (Sl &)
_ o HEC
FA R CA(EA) - NFAY - BYES Oll & <4 Ol Ak O BlusZ
FAeA 23 300,000 «12& 3,600
=AeEg 22y 202,500 x12& 2,430
JIErZ I 835,379,0002 *0.6299/100 5,263
)& s 797,000 1,158,000 A 361,000
s 558,000
& 119,500
o 119,500
401 AlZHIZ 204 797,000 1,158,000 £A361,000
= 558,000
< 119,500
@ 119,500
01 Al2H 792,233 1,132,223 339,990
Oz S HAME 792,233
—EFANLAIL (LSS A=2,000m ) 792,233
AN 756,686,000 «2.99/100 22,625
Ar&d 8l 756,686,000 * 14| 756,686
a 558,000
=S 119,500
z 79,186
Sz 170,000 682 Xl 11,560
= Pl
756,868,000 «0.8997/1,000%2 1,362
03 Al2=0idl 4,767 25,777 A21,010
O S3HALY 4,767
—EFONLAE (L33 A=2,000m) 4,767
- JIEtZHI 756,686,000 +0.6299/100 4,767
HdEANSIY 393,000 875,000 482,000
= 275,000
o 118,000
401 AlIZ2HIZ=0HYI 393,000 875,000 482,000
= 275,000
@ 118,000
01 Al&H 390,773 861,306 470,533
Oz S HAAME 390,773




SN AL
ol

M =Dl TR (SRHL /5D - 5E)
ol SEOISHEY 2 SUMAN HE (S92l
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES 0 Ak o4 Sl ko HRE2
—HADIS T A AR (92,158 390,773
JIZEADYL AAIEH
309,238, 0002 +3.73/100 1,535
- AbZHI 309,238,000& 14 309,238
P 275,000
2 34,238
CRRNE sYLLE
70,000,000& =14 70,000
03 A& =0 2,227 13,694 A11,467
OBS3HAY 2,227
~HADIS T A AR (92,158 2,227
- JIEtZHI 309, 238,000& *0.72/100 2,227
A EHZ B E 500,000 525,000 A 25,000
2 400,000
= 50,000
2 50,000
401 AIEHIZLROY| 500,000 525,000 225,000
s 400,000
& 50,000
2 50,000
01 Al&HI 496,599 512,986 A 16,387
OZS3HAY 496,599
—JIASB A Z LA ALY (L=5km) 496,599
- AAIE A 472,424,000& *3.3899/100 16,015
- Ardl 472,424 0003 14! 472,424
[ 400,000
< 50,000
2 22,424
- EErE 170,000 ~482 X| 8,160
03 A& =01 3,401 12,014 AN8,613
O E3AH A 3,401
—JIASAEZE LA ALY (L=5km) 3,401
- JIEtZ Hl 472,424,000 0.7198/100 3,401
I AY 5,105,000 1,314,000 3,791,000




2 A4

I SIS (SYHYSL/5Y - &)

Sl SAIHL ALY (S92l
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

EFHE A s 900,000
& 2,197,500
= 2,007,500

St HHI S0 125,000 100,000 25,000
s 100,000
& 12,500
i 12,500

401 A& HIZL 20| 125,000 100,000 25,000
s 100,000
L= 12,500
= 12,500

01 Al&HI 123,885 99,108 24,777
O E3AH A 123,885
— ST SN AL (2HE 50HA) 123,885
- Ardl 123,885,000& * 14! 123,885
s 100,000
= 12,500
i 11,385

03 AIZ=RC0HHI 1,115 892 223
OZS3AHAMIZ 1,115
— S ESNLAIS (2tE 50 A) 1,115
- JIEtZHI 123,885,000 *0.90/100 1,115

A2 S0 1,600,000 1,024,000 576,000
s 800,000
= 400,000
= 400,000

401 AIEHIZLROHY| 1,600,000 1,024,000 576,000
s 800,000
& 400,000
= 400,000

01 A&l 1,471,960 931,139 540,821
OZE3AH ALY 1,471,960

—AAE2sSUSFHLAMS (M=K 11L)

1,456,660, 0002 * 14! 1,456,660
s 800,000




S A4

I SIS (SYHYSL/5Y - &)

CHol B4R ALY (Eh9): & 2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
= 400,000
i 256,660
— S 170,000& «90& X 15,300
02 el 120,174 76,819 43,355
ORSEHAY 120, 174
—AAREABENLA (HAT 1H4)
1,456,660,000& *8.24995/100 120,174
03 AlZ=0idl 7,866 16,042 N8,176
OZS3HAY 7,866
—AARSABLNLA (HAT 1HA) 7,866
FABLLE
1,456,660,000% *0.9/1,000%2 2,622
- JIEtZ Hl 1,456,660,000& *0.36/100 5,244
SEAEINR S AT 3,280,000 20,000 3,160,000
= 1,735,000
2 1,545,000
401 AIEHIZLROY| 3,280,000 120,000 3,160,000
S 1,735,000
= 1,545,000
01 AIZH 3,270,040 19, 142 3,150,898
OSHIEXAY 3,270,040
— %2 AIE IR % AR (1021) 2,766,722
SS0IIS S22 4 AR (L=700m
) 300,000, 000214} 300,000
= 150,000
i 150,000
2SS 22 A (L=100m, B=15m)
400,000,000& » 14! 400,000
< 200,000
fiis 200,000
CAUSART HEEEAY (D22 |
003) 200,000,000& =14 200,000
= 100,000
2 100,000
COHEART HE L Ol ER 4 AR
1008) 350,000,000 14! 350,000
= 175,000




SN AL D
HE: SOITRRE(SYNYSN/5Y - 5E)

Bl EFEAE

SN EY O (BH) - MRAY - BLS 01l & o e
i 175,000
- AEEE N2 2 AFE (L=140m)
300,000, 000& * 1A 300,000
= 150,000
o 150,000
- 0IBREHASA MYgESAE (D22
g 1003) 200,000, 0003 * 1A 200,000
& 100,000
= 100,000
SWMASRI HYEEAS (0229 1
003) 216,722,000 * 14 216,722
& 150,000
o 66,722
K= I E 2= AL (L=100m)
200,000, 0003 * 1A 200,000
& 100,000
o 100,000
- 21028 B4 Ar (1L=50m)
300,000, 000& =14 300,000
& 150,000
o 150,000
- CHOHE 24 Ared (L=80m)
300,000,000 14 300,000
& 150,000
o 150,000
—&AIE A 2,766,722,000& *2.64999/100 73,318
— A2 X G AL 430,000
- =9 70,000
X202 & dlAr (L=400m)
40,000,000 * 14 40,000
o= 40,000
*0tel S22 F 4l A (L=200m)
30,000,000& * 14 30,000
= 30,000
- oto|X 170,000
%228 ¥ s2EE(L=1,0
00m) 150,000, 000& *14] 150,000
= 100,000
o 50,000




S A4

I SIS (SYHYSL/5Y - &)

S 2L AL CHe M)
_ _ _ AT
S HE - S(EH) - NRAY - BES &k ot L HI RS2
MAG T2 HU|IAFY (L=200m)
20,000,000& = 1Al 20,000
= 20,000
- N 5tod 190,000
22X 22 " HIZ2AHL=800m)
120,000, 000& 14! 120,000
< 80,000
= 40,000
x4 42 HU|l 3 AHL=800m)
70,000,000 * 14| 70,000
< 40,000
= 30,000
03 Al&20iY| 9,960 858 9,102
OEHIEX A 9,960
—22lAA JHESAI (102A)
2,766,722,000& *0.35999/100 9,960
FHAN=FHEIAS 100,000 70,000 30,000
= 50,000
= 50,000
401 AIEHIZL SR 0HYI 100,000 70,000 30,000
T 50,000
= 50,000
01 A&l 100,000 70,000 30,000
OZHIBxAMY 100,000
—E93E =S E X AL (L=3,5km)
100,000, 000& * 14! 100,000
< 50,000
= 50,000
FElAIEEME =AY 1,256,209 444,952 811,257
FelAEESME =AY 695,328 444,952 250,376
401 AAHIL 20 695,328 444,952 250,376
01 Al&H] 690,000 442,000 248,000
OFLE B L HEEX A
40,000, 000& *5JH 2~ 200,000
O=C2IAIEE HEF AL
30,000, 000& *7 4 &~ 210,000
OStolitHEl 28R X E= 30,000,000& * 14! 30,000
Ox2lAEE2 RAE=AtH
250,000, 000& * 14| 250,000
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2 A4

I SIS (SYHYSL/5Y - &)

2l FelAIESHE-AE (SR :H&)
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
03 AlZ=0HI 5,328 2,952 2,376
OFYE B B4 L HEEX ALY
280,000,000 *0.72/100 2,016
O=tlAld=2 HE=AMH
210,000,000 *0.72/100 1,612
FCIAEE RAESAMG
250,000,000& *0.72/100 1,800
SE=E=a] = 124,893 0 124,893
401 ASHILE0HY 124,893 0 124,893
01 Al&HI 124,000 0 124,000
OMESEY HEAS 24,800, 000& *5ha 124,000
03 AlZ=0Hl 893 0 893
OMESEY HEAS 124,000,000 +0.72/100 893
22X HES 435,988 0 435,988
101 124yl 33,108 0 33,108
10 JIZtHZ22NHSEs 33,108 0 33,108
OA&X HYzel 31,0003 6 * 178 & 33,108
401 Al&BIZL20HYI 402,880 0 402,880
01 A&l 400,000 0 400,000
OAFK HE=AMH 200,000,000& *27 2 400,000
03 AlZ=2C0HYI 2,880 0 2,880
OARX HES=AH
400,000,000& *0.72/100 2,880
CAULFHAXMY(ZEL XS INL /XN HL Al 11,514,131 9,671,090 1,843,041
= 2,833,000
& 2,025,000
= 6,656, 131
XSy 11,514,131 9,671,090 1,843,041
= 2,833,000
& 2,025,000
= 6,656, 131
QA SEMNL 4,047,000 4,986,250 A 939,250
s 2,833,000
= 405,000
= 809,000




2 A4

Mo QUUHAXNNL (IELNANL/NHLEAI)
chol: X% oH g (9l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
401 A&HI L2 3,847,000 3,216,250 630,750
= 2,633,000
< 405,000
2 809,000
01 A&l 3,836,908 3,079,500 757,408
ORS3I AL 3,836,908
— RN BEHNLAY 3,836,908
- AALE
3,737,855,0002 264999/ 100 99,053
- At 3,737,855,0002 12! 3,737,855
= 2,633,000
= 405,000
2 699,855
03 AlZ=0i] 10,002 136,750 126,658
OBRS3HA 10,092
— X BENY 10,092
- DIEHZ
3,737,855,0002 0.26999/ 100 10,092
402 QI2HXHZOIH 200,000 1,770,000 A 1,570,000
=) 200,000
NEEEEEES 200,000 1,770,000 1,570,000
OB S3H A 200,000
—NAXT XX 40,000,0002! *55 200,000
= 200,000
THE 212l A 2,194,391 830,000 1,314,391
= 1,620,000
2 574,391
401 A&HI LY 2,074,391 880,000 1,194,391
= 1,500,000
2 574,391
01 A&l 2,061,980 847,606 1,214,374
OZHI 2 Z AL 2,061,980
— 2R3 NANLAY 91,980
NP
100,000,00084+5. 11/100% 1824 91,980




SN AL
M2 QXLFH AR NL(ZELKIHL /X ALEAI)
chel: Xl H

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0 &4 o i
—anE XL AL 1,970,000
- ESAS 250,000
¥HEX P ==& EE A (L=500m)
150,000, 000& 1Al 150,000
= 100,000
i 50,000
¥2S X7 =2 FHIAY (L=500m)
100,000, 000& 1Al 100,000
= 70,000
fiis 30,000
Ord & 200,000

XA T EAFY (L=700m)

100,000,000 * 14 100,000
< 70,000
[ia 30,000

®oZSMYZ EHILAIAH(L=400m)

100,000,000 * 14 100,000

= 70,000

[ia 30,000

-5 200,000

¥ESSti=2 FHIAFY (L=500m)

100,000, 000& * 14 100,000

S 70,000

[ia 30,000

Mg =2 ZH| AL (L=800m)

100,000, 0002 14! 100,000
= 70,000
2 30,000
- R 240,000
MR YR =TI A (L=400n)
140,000,000%! 14! 140,000
= 100,000
2 40,000
#BESD =2 T ABAH(L=300m)
100,000,002 * 14! 100,000
= 70,000
2 30,000
s 150,000

*
£l
Ot
=
1o

SE2E I AH(L=140m)
50,000,000& * 14| 50,000




Sk
J(‘Iil-l:
C|—O|:

J;I/\ﬂ ﬂl.

XY O X I (R E LT N
Iloﬁthﬂ-

nt
~
pal
12
He
H
=

SN EY O (BH) - MRAY - BLS Aol Bl
04l &F2H
[ 50,000
¥250S Y2 E(L=1,000m)
100,000, 0002 %14l 100,000
[ 60,000
= 40,000
oro| g 330,000
H¥ES S2 A AF (L=300m)
30,000,0002! * 1Al 30,000
[ 30,000
=2 S22 AN (L=500m)
50,000, 0002 %14l 50,000
[= 50,000
YA =2 T A AHL=300m)
30,000,0002 * 14! 30,000
[= 30,000
MO =22 &2 AHL=500m)
50,000, 0002 %14l 50,000
[ 50,000
AR DISAY2 ZTHEBAHL=400
m 50,000,000 *14! 50,000
[= 50,000
¥ OhAl = 2 I &2 AH(L=300m)
30,000,0002 * 14! 30,000
[ 30,000
X2 A =222 AHL=400m)
40,000,000 *14! 40,000
[ 40,000
OIS AMA FHI A (L=400m)
50,000,000 *14! 50,000
[= 50,000
- A AHOH 200,000
HANAEND FHIAY
100,000, 0002 * 14! 100,000
[ 60,000
= 40,000
¥UWE 52T E2AHL=500m)
50,000,000 *14! 50,000
[ 50,000
WA A E® =2 AT AFL=500m)
50,000,000 *14! 50,000
[ 50,000
BH & 04 200,000
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2 A4
HH: QAULFHAXINL(ZELXGMLY /N SELEAl)

chel: XIS HE (5 &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
#OHQIXI 7 72 2 & I & 2 AH(L=600m
) 100,000, 0002 * 14! 100,000
= 70,000
= 30,000
PP SREIA (L=1, 100m)
100,000, 00021 #14] 100,000
= 70,000
= 30,000
SR 200,000
H*SEX T S2TE A (L=1,200m)
100,000, 00024 *14] 100,000
= 70,000
2 30,000
*SHX T =2 EE A (L=1,500m)
100,000, 0002 *14] 100,000
= 70,000
2 30,000
03 Al&SCH] 12,411 32,304 ~19,983
OSHEE A 12,411
—ATR2 KGN A 12,411
SIS ESE 1,970,000,0002 0. 63/ 100 12,411
402 RIZHXHEOIH 120,000 0 120,000
= 120,000
01 OIAT=EEE 120,000 0 120,000
OSHEE A 20,000
—ATRD KGN A 120,000
B MM L AETAEY
50,000, 00021 %15 50,000
= 50,000
COFE N ETAY 50,000, 00024 %15 50,000
= 50,000
oo SIEE XY 20,000,000 15 20,000
= 20,000
FoI=RAMY 5,272,740 3,804,840 1,467,900
203 YREIY] 3,000 2,500 500
038 A=A RFAY| 3,000 2,500 500
OA&HY /| 3,000,0002! 3,000
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S AL

B QX UHXNL(ZEL SN/ NAL A
CHol: XISHHE
_ _ _ Muo
SN - EH . S(3) - MRAY - BES Ofl &k 04 il i~ o
401 AEHIZ =0 5,049,740 3,602,340
01 AI&HI 5,003,300 3,540,000
O&A A& AIHI 50,000,000 *2024 *5.46/100 54,600
OUS0IEAE FXNEx 3,000,000& »20A 60,000
OPIHESSD FHFYl 220,000,008 *14! 220,000
Ostss2 Fl 750,000,000 108 2 750,000
O YR HY| 250,000,000 %174 £ 250,000
OHBANY FXT ZF
100,000, 00024 * 14! 100,000
OMBINIS2E C2EE U th+2 23
300, 000& *300m 90,000
OF & A 30,000, 0002 +2521 750,000
OFoI=AY 750,000
] 125,000
AT NS S2EYBA
100, 0002 350m 35,000
REOSH SZTYIM
100, 000& *300m 30,000
T A2 Y SRELTA
100,000 *400m 40,000
-8t =2 & X3 At 100, 000& *200m 20,000
—orE e 50,000
- SEOIS LT L SREIBA
100, 000& *250m 25,000
YWD B4 Y SEUEIALY
100, 000& *250m 25,000
~EHe 65,000
S50 SZ2EEIAM 100,000 *350m 35,000
NS 2B A 100, 0002 +300m 30,000
— =84 65,000

130,000 *500m 65,000
=o 65,000

4

100,000 & *300m 30,000
TAE SE2EY ¥ =2 2EIIAY
175,000 *200m 35,000
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SN LD
o QXUHAXNL(IELNSHL/NALZAI)
Chel: K ope
_ _ _ Muo
SN - EH . S(3) - MRAY - BES Aol il i~ o
—X=el 50,000
DS AYR HUIBAL
100, 0002 +250m 25,000
20102 SZIHIBA
125,000& *200m 25,000
—Qto|H 100,000
af ot QHZ FHI ALY 150,000 *400m 60,000
H2US S2IUIMY
100,000 *400m 40,000
— A otH 65,000
NI BUSB SZEEBA
120,000& *250m 30,000
SHNB SREFTA
140,000& +250m 35,000
— Ao 50,000
o4 L2 EITA 125, 0002 +200m 25,000
ESHIIS 2 A
100, 000& *250m 25,000
— N 50,000
HME SZHEYSA 100, 000& *250m 25,000
S EFZ2 4 XA 100, 000& *250m 25,000
—g2p 65,000
SIS S42HUIAY
150, 0002 +200m 30,000
QIO 942 THEFBA
100,000 *350m 35,000
OAREFo=JAM 25,000,000& 3024 750,000
OALZF0l=RAAY 750,000
—AS 130,000
SE SZETI3AM 100,000 *400m 40,000
IS NYRHY U SZEFTA
100,000 *300m 30,000
CHT UNB SZEFBA
100, 000& *300m 30,000
Ao B4R R T A
100,000 *300m 30,000
—orE el 60,000
E5 S ZT3AM 150, 000& *200m 30,000
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SN
X XH .
(=

chel:

raf=N,

SANULHAXN ML (REX XA L /XS

A <=oHe

(u]

il

IS Al

SNBSS - MEAY - BES

22
J2

- DA eH2 EHIALY 150,000 & *200m

- S202 =2 EHIALY

-HERZ =2 ZHIALY

- OiBt?l s2EBIAE

. I’_l»%~L_I-AI'D}‘ iig t”_?._}\'.

150, 000& *200m

150,000& *200m

150, 000& *200m

150, 000& *200m

150, 000& *200m

100,000 & *300m

100, 000& *200m
100, 000& *200m

100,000 & *200m

160,000 & *250m

el [== I LI S)

200,000 & *200m

100, 000& *300m

150,000 & *200m

100,000 *300m
100, 000& *300m

100,000 & *250m

100, 000& *200m

30,000

60,000

30,000

30,000
60,000

30,000

30,000
60,000

30,000

30,000
60,000

20,000

20,000
20,000

80,000

40,000

40,000
60,000

30,000

30,000
60,000

30,000
30,000

60,000

25,000

20,000
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SN AL
M2 QXLFH AR NL(ZELKIHL /X ALEAI)

chel: X o p (£ @8
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 Hws2
HLH0|S 52 EFAY
150,000 *100m 15,000
—g=Rp 60,000
LB0IS SH2FUIBA
150,000 %200m 30,000
CHOS SH2FHIBA
150, 0002 %200m 30,000
OR=s54 ALY 150,000
—BYNPR SZEIIA 150,000 %500m 75,000
~SHNT SZEZTA 150, 000! %500m 75,000
O=H ¥ I SZEIBA
150,000 %500m 75,000
OZE HMEZHIAY 200, 0002 *250m 50,000
O2EEzy +42 170,000 %3002 X| 51,000
OSJl++2 9,00024 *3002 X| 2,700
OF L&A 150,000
—JtRs 2 &I E AHL=200n)
150,000, 0002 150,000
03 Al&=CHH] 46,440 62,340 ~15,900
OF &Y 50,000, 00021 %8621+ 1.08/ 100 46,440
402 DI2FXHEOIF 220,000 200,000 20,000
01 PRAEEE 220,000 200,000 20,000
o252 2 50,000, 0002 x2S 100,000
ODSHE X4 40,000,000 +3S 120,000
SEANEBR(FBLDE/ET) 8,073,323 11,513,681 3,440,358
= 400,000
2 7,673,323
cEAes 2y 7,699,002 1,198,874 ~3,499,872
= 400,000
2 7,299,002
BTEIEN LA 800,000 500,000 300,000
= 400,000
2 400,000
401 AlSHIL =0 800,000 500,000 300,000
= 400,000
2 400,000




S A4
H: T2ALdZel (5L nE/E2)
S

el cRAME T Rk
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 Sl ko HRE2
01 AlZH 794,240 489,930 304,310
O ESAH ALY 794,240
— A A& I (221)
400,000,000 *5.08/100+221 40,640
— At HI 745,920
CSYEE HEINZAR (L=0.5kn)
372,960,000 14! 372,960
2 200,000
2 172,960

- SHHEZ S IHEAFY (L=0.5km)

372,960,000 14! 372,960
2 200,000
2 172,960
—SEeg 170,000& +20& X| 24 6,800
—AFL42
400,000,000& *1.1/1,000%221 880
03 AIZ=C0HHI 5,760 10,070 A4,310
OZS3HAY 5,760
—AE T2 2 EMSAIS (22H) 5,760
S JIEFZHl 400,000,000 %0.72/100%221 5,760
TSI EALY 2,631,990 3,742,945 21,110,955
401 AIEHIZROY| 2,631,990 3,742,945 21,110,955
01 AlI&HI 2,625,510 3,636,125 21,010,615
O S TAY 2,625,510

,200,000,000& * 14! 1,200,000
—OtE~S 42t TS LY I AL 1,200,000
- A==2(1=0.8km) 600,000,000& 14! 600,000
- HE =2 (L=0.5km) 600,000,000 » 14! 600,000
— & AIE A 179,440
SIIEEA Y AAEA
1,200,000,000& 4. 12/100 49,440
MHBHLAE
1,200,000, 0002 %2.5/100 30,000
PC . SHECR By LY 89
100,000, 000& 1Al 100,000
— =Sz 170,000& *250E Xl 42,500
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FA AL 0
A CRANE2e (5L NE/E2)
HP EEALEE ZE

_ _ _ Muo
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
— g2 1,200,000,000& *1.1/1,000 1,320
—S==8 9,000& 2502 Xl 2,250
03 AIZ=204bI 6,480 106,820 A 100,340
Ozt EZFIA
2,400,000,000& *0.27/100 6,480
SHECZEZFAY 4,267,012 4,005,929 261,083
401 AIEHIZ=20Y] 4,267,012 4,005,929 261,083
01 Al&HI 4,256,482 3,897,550 358,932
OsHEEZ SZHIA 4,256,482
— &N SHES2E I ALY (L=0.6km)
450,000,000& 14! 450,000
—2&8 sHESESEIZ A (L=0.8km)
400,000, 000& *14] 400,000
—Hotd SOHESZEIZ ALY (L=0.3km)
400,000,000& 14! 400,000
=AW THIOLE 3 AH(L=45m)
450,000,000& 14! 450,000
—F4d sHESESEIZ I A (L=0.3km)
400,000, 000& * 14! 400,000
~ENM SO0IEE 28 T A A2 (L=0.5kn)
400,000,000& 14! 400,000
—MEH sHESZE I AL (L=0.4km)
o 0
— 2T SHET RS TAAIL(L=0.3n)
300,000,000& =14 300,000
—2484 sHESZEIZ AL (L=0.3km)
400,000,000& 14! 400,000
—0lENE sHEZZ& L E AL (L=0.3km)
400,000,000& 14! 400,000
— & A& A 255,942
- AAIE A 3,540,000,000% *4.48/100 158,592
AMHBEHEE 89
3,540,000,000&*2.75/100 97,350
—Egr2 170,000 «550 & K| 93,500
— L2 1,900,000,000& *1.1/1,000 2,090
—S)#=== 9,000 *5502 X 4,950
—M2AH sHESZEZE ALY (L=1.04km
) 300,000,000& 300,000
03 A& =0 10,530 108,379 A97,849
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SN AL
By CRALR(+SLDS/E2)
S

o CERAAE BY (£ &%)
_ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ

OS0ECR SR
3,900,000, 0002 %0.27/100 10,530
SRANERNES 374,321 314,807 59,514
N RS 374,321 314,807 59,514
101 Q12| 2,856 2,142 714
10 JIZH2ZNELS 2,856 2,142 714
ORERESEA 42,0002 *342 522 2,856
201 Ygreg| 33,540 3,340 30,200
01 AFR2elt] 31,120 1,120 30,000
OE228405 Fu4g
70,0002 ¥425 x4 3| 1,120
ORE, S0HEC2Y XM 60,0002 *500 30,000
00 ZZ=2YY 2,420 2,220 200
OYIZER(158) 282
1,700,000%! %11 #1CH 1,700
Ogstzs BAMEI &3
60,0002 122 720
206 Tl 77,925 65,325 12,600
ET 77,925 65,325 12,600
oczEHIE 50,0002 * 10JH*55 2,500
OMBHII®E HsiZs 7Y 900,008 15 13,500
OYTA 2 30,0002 %4001 12,000
OulFII RF 1,3002 *450 £ *5CH 2,905
HHHE WED PY(EHEHE)
4,000,000 *57H 20,000
OMHHHES HES 7 (ZII5E)
600, 000! *4% 2,400
O=3GIS(OtABEHE) 15,0008 *200% CH 3,000
ogZeEs S| 1,800,000 * 1204 2 21,600
401 ASHLLHH 260,000 244,000 16,000
01 Al 260,000 244,000 16,000
SI==ES TN 1,000, 0002 *170km 170,000
ONEHHEX T &XIAI
10,000, 00024 *57H A 50,000
OPE . S0EE2 JHTM
1,000,000 *40km 40,000
HERS2eH(+5LDE/HELS - 2RSIIEY) 2,631,120 2,082, 151 548,969
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SN AL
Y HSLSSH(+SLNE/UHSUS - 2RSIIE)

el 2L HMEXH (EHe|:® <)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
= 495,271
= 2,135,849
22X ME XA 2,064,542 1,464,208 600, 334
= 495,271
= 1,569,271
SN HAEAE N 471,180 419,044 52,136
& 235,590
= 235,590
402 QIZ2FX =0 471,180 419,044 52,136
& 235,590
= 235,590
01 BI2ZEXI=22 X 471,180 419,044 52,136
OZHI XA (2H) 471,180
—SHILd =A2AT X2 (X elat
E201) 471,180,000 * 14 471,180
< 235,590
o 235,590
HARIYE E2= &X 29,000 30,800 A 1,800
401 Al&HIZL20HYI 29,000 30,800 A 1,800
01 A&l 29,000 30,800 A 1,800

OHAQH &z 22
2latD=9 2)

=

Ul

22 X (32X
2

,900,000& ~10CH 29,000

24 RNBE X 800,000 730,000 70,000
307 QI2H0|H 800,000 730,000 70,000
09 SxAH2xS 800,000 730,000 70,000

O244H SIIBX2Z X2 (2080)

200,000, 000! *43] 800,000

HAH X 2 339,362 154,364 184,998
= 169,681
= 169,681

307 ©I20|H 339,362 154,364 184,998
[ 169,681
= 169,681

09 24UABx2 339,362 154,364 184,998
OZHEXEAY 339,362
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2 A4

M znsSR(+=sLnE/HENE - ERSIIE)
el 2L HMEXH CER:E
_ _ _ HEC
SAN-ZH-SA(FA) - NFAY - BES O AF K bﬂ/‘\_“’” Hlw &2
—SHEHALH HEXH(SXelatD
=) 339,362,000 » 14! 339,362
[ 169,681
i 169,681
S22 IHATY 425,000 130,000 295,000
& 90,000
= 335,000
405 XtobESHI 425,000 130,000 295,000
= 90,000
= 335,000
01 XML EESHSHI 425,000 130,000 205,000
OSHIEXZAE 425,000
—HICH2#ZIHA T (50)
85,000,000 *5CH 425,000
< 90,000
fiis 335,000
NsHIANLEES 402,921 517,872 A 114,951
HASZE X 2 82,515 74,500 8,015
401 Al &HIZ =20 82,515 74,500 8,015
01 Al&HI 82,515 74,500 8,015
OHASZE &X 2 E(F3HL 3MHH
) 8,000,000& 64 A 48,000
OHASZE TM(E2AS2 601L)
300, 0003 *40H 2~ 12,000
OHAOIE FEHXH &X
100, 000 *60IH &~ 6,000
OHASZE EXE &X
1,000, 0003 * 1504 2 15,000
OBHASZE EXT X AAIEN
25,000,000 *6.06/100 1,515
HA=X S E ALY 36,911 33,000 3,911
401 AIEHIZLROHY| 36,911 33,000 3,911
01 Al&HI 36,911 33,000 3,911
OHA H=x32H(RED-Z0NE) & XI (B,
orol) 70,000 *500m 35,000
OHA RE=XZ2H(RED-ZONE) & X & Al
= 35,000,000& *5.46/100 1,911
WEHHALE LIS 198,455 194,932 3,523
|
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SN AELD

¥ HsusSSH+sLus/UszUs - 283SIIEH)
CHe|: NEMOIA|LE= (&2 &)
] _ _ PIEL=
2N -3 - c2(3H) - NEME - HES Ol & ‘Oﬁ/l\_“’” Hns
401 AAHILE20Y] 198,455 194,932 3,523
01 Al&H] 197,087 192,752 4,335
OZAIHE X7 XtH M (s, oFo|H
s) 1,000, 000& *80km 80,000
OQUECHH AILZS(EAIY S)&X & Al
500,000& * 10004 2~ 50,000
QUSRS ES(EES) WM ¢ ald
20,000, 000& *3JH & 60,000
OZAHE X2 XM NEAES
S &AIEA 190,000, 000& *3.73/100 7,087
03 A& Z20HI 1,368 2,180 AB12
OZAHE X2 XSS A
190,000,000& *0.72/100 1,368
NS S 22 37,440 37,440 0
401 AAHILE0HYI 37,440 37,440 0
01 Al&H] 37,440 37,440 0
QUENSTI| X84 A2 (HESH)
30,000& 1041 = 12& 37,440
NESHASMI LA EME AL 47,600 35,000 12,600
401 AAHILE20Y] 47,600 0 47,600
01 Al&H] 47,600 0 47,600
OEAl DIED] EXIAY 400,000 x119CH 47,600
SEHF NS NSEAN EE 163,657 100,071 63,586
nSAE ot™ze| 88,810 71,211 17,599
101 o124 | 7,750 7,875 A 125
10 JIZH2Z2XNSE+ 7,750 7,875 A125
OYXNEE WESXA 31,000& *50H x5 7,750
201 Bt 81,060 63,336 17,724
01 At®2te2ldl 39,416 9,600 29,816
Oz (F=xss wsdHe)
7,000 22 60 9,240
OFXNHELA I/=2H| 100,000& *9H *23] 1,800
QUEANDNLWNE AHLAIZE LAI2
200,000 x3H x53] 3,000
QusSoHdAEM Mo &AM ¢
70,000& *10YH 43| 2,800
QuEWE 22 MHX M
100& %10, 0000 *3= 3,000
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2 A4

H: EuSSHLsLNE/HSNE - S2STIE
=
.

ool 2o

_ _ HE T
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o bRz
OF A DEHE S 23 DM L A€
RI = 3002 %2, 0000H *8% 4,800
OFFA S& 28 IY(XN, oM, &
52) 1,000,000 *3% 3,000
O28 FHX B VS S22 (4N
&) 63, 130,000 *12/100 7,576
ONEAHBY ELS(H4Y S) HE
60, 00021 % 10JH £ x23| 1,200
OLE2LX HAMS Motz 7 (HA
=) 250,0002 *120 3,000
;2 T2 41,644 53,736 ~12,002
OWENBES FIGAEY 442
43,0002 #1044 23| 8,944
ORENBS ®IIQZ 25,0002 *1047H 122 31,200
OZZUHA 282 ¥ A5 MR
50,0002 *5C %23 1,500
SYE FRos 74,847 28,860 45,987
101 oIty 31,247 26,460 4,787
10 JAHZEZNSES 31,247 26,460 4,787
oY =X o 31,0002 *3% %2802 26,040
OgY =3 o LN 74,0002 +3% 2,232
O2Y FI3 o BHE(5H 2HE)
2,975,0002! 2,975
202 01t 3,600 2,400 1,200
01 =UHolbl 3,600 2,400 1,200
OSHEIR o2 20,0002 6% *302 3,600
405 XarE S 40,000 0 40,000
01 RMUSEFSY] 40,000 0 40,000
OZYFII o= FUIDY(IBES CCTV)
40,000,000 14! 40,000
HHSHZY (AL (IEHIIE 410, 141 331,627 78,514
= 247,919
2 162,222
o2y 331,341 261,247 70,094
= 247,919
2 83,422
ol 2yl 4,200 4,200 0
|
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SAM AL
HH: HAH2AZH(ALD)(JIEH/IIE)
©elr Q2 E (el &)
_ _ HEE
SAN-ZH-SA(FA) - NFAY - BES O AF K Oﬁrw” Hlw &2
203 YRFLAY| 4,200 4,200 0
04 RENM2IIRFLH 4,200 4,200 0
OFA2IELRFAHI 350,000& x12& 4,200
olARIH(+=2&) 327,141 257,047 70,094
= 247,919
= 79,222
101 el2H] 327,141 257,047 70,094
= 247,919
= 79,222
09 SIAHAZZX 327,141 257,047 70,094
OZHIEXZAE 327,141
— 2 (BHE 36,966
=g 58,2203 x1H x300 17,466
[ 17,466
o023 17,466,000 =4/ 12 5,822
= 5,822
ZEIMZ 17,466,000 «10/100 1,747
= 1,747
ZTHIZES 5,807
M AL
10,9103 »1H «15A| 2+ 123 1,964
= 1,964
XU 58,2209 *1H +66 Y 3,843
< 3,843
Fe=¢ 58,2203 »1H «52¢ 3,028
= 3,028
SPNESISy 58,2203 »1H 25 1,456
< 1,456
ESY 1,040
i< A 40,0003 x1H 123 480
[ 480
MEHIS 20,0003 »2H «12& 480
= 480
I = 80,000 1Y 80
< 80
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SN AL
I SASAAH (A4D)(JIEHIIE)
cHol: ol 2oy
. _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol Ak O
- S| 2,000 12 +3002 600
< 600
— S22 (B) 290, 175
Sl 40,8102 %112 %3002 134,673
< 97,907
2 36,766
- A013 134,673, 00021 #4/12 44,891
< 32,635
2 12,256
- 2EINB 134,673,0002 10/ 100 13,468
< 9,791
2 3,677
ZR224Y 44,776
#AIRES| &g
7,6502 112 %1541 2t 122 15,147
< 11,011
2 4,136
HEUSE 40,8109 %112 x662 29,629
< 21,540
2 8,089
z54g 40,8109 %112 +522 23,344
< 16,971
2 6,373
P Es=] 40,8109 %112 252 11,223
= 8,159
2 3,064
tELy 11,200
3 HH 2 Xt 40,0008 +10% 122 4,800
< 3,489
2 1,311
EETIE 20,0002 x235 » 122 5,520
< 4,013
2 1,507
3 I = | 80,0008+ 11 830
< 639
2 241
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oo ry
J¥ oA nix

2t
2 ZH(A4D
23t

FY(D1EH/DIEH)

N EE - SI(3) - HEAY - BES sk Soe B RS2
= &l 2,000& 11300 6,600
< 4,798
fiis 1,802
Jl=2Z4l 78,800 70,380 8,420
Jl=&dH| 78,800 70,380 8,420
201 Lt 3| 44,480 43,500 980
01 ArR2teldl 44,480 43,500 980
OFNSAH 1,800,000& *x22H 39,600
O=gt| 3,080
—S204al Y| 7,000 x22% x20 3,080
ogxz 1,800
—SIEZA] 150,000& =122 1,800
202 OdHl 34,320 26,880 7,440
01 =UWobl 34,320 26,880 7,440
Ol 80,000& x22& 122 21,120
o= bl 50,0003 x22H 122 13,200
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